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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours Part-II Examination, 2019

EcoNOMICS

PAPER: ECOA-III

Time Allotted: 4 Hours . Full Marks: 100
The figures in the margin indicate full marks. fifer T T0E RPN 7‘73777{ T #F1
Candidates should answer in their own words A AT SR TR TG NN T

and adhere to the word limit as practicable. Tez A1

Use separate Answer Scripts for each Group and Mention the Group on Answer Book
&lfSfs el e fon Seasa G727 F0At 932 Eeaaiaa T [T Tgel Foat
GROUP-A
o3

1. Answer any three questions from the following: ' 4x3 =12

feliie @-it foafe ariz Tea wis:

(a) What is dominant strategy? Why is equilibrium of a market is stable in the
presence of dominant strategy?

g e 00 & @IEN ¢ SRR (FE BoifEe A A Sy
oz FEfeRe 2@ @4 ¢

(b) Establish the relation between monopoly power and price elasticity of demand.
o iba1 el @ iftwr e fEfeirire Ay eI et Tt

(c) Show that the elasticity of supply of an input governs the level of rent.
e (1 el gt e 0 Beimta Semiafoa ity FEfemisieei Tofa

(d) Mention the prime characteristics of monopolistic competition.
G5 efereteTe et e i Eref Sras

(e) What is meant by externality in consumption? Give an example.

(St (09 JAET 2ol Srigge TR I TN
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8 Answer any one question from the following: 8x1=8

fafeiie -t 9o etz Seq wies
(a) What is Cartel? Use ‘Prisoner’s Dilemma’ to explain instability of Cartel.
FIheT 5T fF (I 2 “Prisoner’s Dilemma’ -9 AIRIGH FIGCT Sl i e

(b) What is excess capacity of a firm under monopolistic competition? How can
excess Production Capacity be decomposed into two parts?

GFBHA AferEMenE AeiE Tk Tge wwe! 310 & @I 2 @2 Ty Sevliva
TSN RFeIrd 6 Sl ©is 1 T 9

(c) Explain the equilibrium of a monopolist under third degree price discrimination.

SO TG W 7RI (FCT G0 SR SREAY et e

3. Answer any fwo questions from the following: 15%x2
famferie @it 715 efvem Seq nies

(a) Explain the concepts of monopolistic and monopsonistic exploitation of labour.
Explain the role of Trade Union in raising both wage rate and employment in
monopsonistic market.

GFOHA AR ¢ AP 2fRe cirEeem qiet i i F@E NP AwE
TG 2R & et Terw 3fas @ik ISt i SEs e |

‘(b) (i) Explain the short-run equilibrium in a monopolistic competitive market.
GFTHA ASRINSETF I TR T ity e st
(i) Show with example how a person can reduce risk through diversification.
Ttz FRIC 11 I Rt azver e (afbaa Mg R 291 Face 21|

(¢) (i) Can you even obtain the market demand for a productive service from the
simple summation of individual factor demand curve?

TGRS BIfRdAt @R e Isre (U & U 9afs Seiwarar aria
ifRwl @l et w9 I 9

(ii) How elasticity of factor substitution and the change in relative factor supply
relate to the changes in relative factor share?

frdor fEfegme!, oM GERE @i @ SAMITR gemiE SRAwid
oI 7RYw 9

(d) (i) In the Stackelberg Model, the firm that sets output first has an advantage.
Explain why. :
@ Terime 2SO O Beriwtaa “fiwie 2 f& 3, ‘Stackelberg’-Gd TeE
1R (oIt ACF | (1 17 T

(if) Discuss the role of conjectural variation in the determination of equilibrium

under Oligopoly.
Sfecottofe A SiRPy e SmEfeT Sms eren-a3 gtk S
AN
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4.

GROUP-B
eta-¢

Answer any three questions from the following: 4x3 =12

fAweide @-iE fowfe avs Tag nies

(a) What is meant by Hysteresis?
RevEP™ e & @it 9
(b) What is the ‘Policy-Ineffectiveness Proposition’ of the New Classical School?
1 T Afen sieReRTor aeRar’ & ¢
(c) How an Income Tax on corporate profit affects investment decision?
ifafeT FER TAFR TF Fie SIRE el kv e el 3 ¢
(d) What is Fisher Effect? — Explain.
iz arela 7 ¢ it e

(e) What are the alternative definitions of money supply?

e el st eetafer 76 & 9

Answer any one question from the following: 8x1=8
el @-FieT @ io 2Aeas Ted wies
(a) Explain how co-ordination failure may lead to recession.
AR e et s 7R FI0S AR JIH I
{(b) Explain how current price level is influenced by current and future money
supply.
IS ¢ SR R RN RFeR IGA FHIE el FE 1 S|

(¢) Using Fisher’s model, show how changes in income and real interest rate affect
consumption.

R et 2R R (LI eI S 21fRae @k eiFs FvR QR RIS
) (ol 2elfie 27|

Answer any fwo questions from the following: 15x2 =30
fsfEe Q- 77 elvaw Tea wies

(a) Define Phillips Curve and show that, in the short run Phillips curve is negatively (2+5)+8
sloped while in the long-run, it becomes vertical. Derive the Phillips curve from
the aggregate supply curve.

ool @i e we @R (TS (@, FEIIE [ @10 e vl e
RGP ©f TeT WPl 4179 I 1 ANEF @i @<t (e et @i fasmold seam
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(b)

©

(d)

2045

Explain how the Life Cycle Hypothesis attempts to explain the short run
variability and long run constancy of Average Propensity to Consume (APC).
What are the limitations of the theory?

9T (SRS THIA ARITSTANeTo! ¢ LA FHIOIF T &Af ST AT
R I G2 AR Amete e & [ o

How do the Real Business Cycle theorists explain short run economic
fluctuation in output and employment with the help of change in fiscal policy
and shocks to technology?

e AfEsE wred eke Fei R wfede ¢ egfes sfexires A=
T Tesiine 8 IR SifEze! i e 2
What is meant by regressive expectation? Why the individual speculative

demand for money curve is a step function while the aggregate demand for
money function is downward sloping?

SriefeRe el 3o & @RIAl T ¢ (@ Sidd e whaeie skt @i
o1& 27 T4 ANAT @I AT DI~ 20T ACE ¢
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EcoNOMICS

PAPER: ECOA-IV

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. eNfeE T TerZ A5 08T A7 FCF 1
Candidates should answer in their own words AN [ACe GIRNT IR TG #HTNT T
and adhere to the word limit as practicable. e PRI

Use separate Answer Book for each Group and mention the Group on Answer Book

efefs Rernm oy 9 Tea1a I FE IR TeF#1ad ToF [ Suasl Feal

GROUP-A
e+
1. Answer any three questions from the following: (within 100 words each) 4x3 =12

e @-@E! foafs e T wis: (&ff$f soo It W)

(a) Describe different stages of economic growth as suggested by Karl Marx.
et Wi 7ffe st Rt Rfew e i sifimefer e vt

(b) What is Human Development Index?
R T 5 3 9

(¢) Distinguish between relative poverty and absolute poverty.
eI Wi @3} 5N WIRER W AN o et

(d) What do you mean by ‘forward linkage’? Give a suitable example.
‘TS| T 2SR LTS & @I 2 96 TAYS Tuigged wie |

(e) What is the environmental Kuznets’ curve?

ARIC FECAG @R PICF I 2

24 Answer any one question from the following: 8x1 =8
sl @-ciea @2 fo eeas Teg wies

(a) Explain the concept of capital-output ratio as an instrument of development
planning.

T ARSI S R orE-Beriine SEAICes QIRetfs i e
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(b) Briefly discuss the process of demographic transition and explam its implication
on economic development of a country.

T PR 2Nt AEFe vl FE @R @I 9B (e wdfes Saae
G Sl I TR

(c) What are the implications of gender discrimination to economic development?

Tt Saarae (e Trfefes (Ranra gore & & o

3 Answer any fwo questions from the following: 15%x2 =30
fasfie -t 716 avia e wes
(a) “Workers base their migration decision on their expected income’ — Explain this 9+6

proposition with the help of a suitable model. Suggest some policy measures to
restrict rural-urban migration in this context.

il o Tfie Wi $hia fofe #R ovrd e oz 3@ — 93 Toge
TS AR 2 K7 11 i T | @2 @Fiex afi-*1gg @b iy Fa[ &w) g

TS fdiacem 2 el @l
(b) Examine the view that — it is not possible to make an inevitable choice in favour 15

of more labour intensive technique even in the overpopulated countries unless we
make explicit choice between the present and the future.

T @R SRYe @ Wy ~E olew W A S B IR owE e wade
riefE CRae ST W-giy Teslva (e TN Svfiea oiev 57 341 e
T - G O A I

(¢) What do you mean by human capital? Explain the correlation between the 5+10
formation of human capital and economic development in a less developed

country.
TR A 00 & @RI 9 I FCHTS (0! N o2 92 '8 AT SRz ey
ol Il T

(d) Explain the possible sequences of projects in an unbalanced growth strategy. 10+5
What should be the most efficient sequence for maximizing ‘induced decision
making’?
T TR (e Rfew e woRy ofiwef gt s@i ‘et Frae e
T 6 A 7 o 6 20e oM ¢

- GROUP-B
fReta-4t
4. Answer any three questions: (within 100 words each) 4x3 =12
fAfeiRe @-cieat a1t eivem T wies (2o oo *itwa )
(a) What is Multinational Corporation? ——
o K I 0 2 ’ /@% %\
(b) Discuss the concept of Tariff war. § %\‘
&% Jraa 4ReNS S S 3 ’1,
Q X Lipab ‘;/
2046 4 ~=
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(c) Mention the objectives of International Monetary Fund.

HeEos e Srael Srad sl

(d) Give two examples of market failure in the economy.

wdAifere qre IaEE LR 76 Sz we |

(e) What are the different types of loan provided by the World Bank?

s & & waoem ad frm s ¢

Answer any one question from the following:

e - @6 v Tea nies

(a) Critically discuss Paul Baran’s and A.G. Frank’s Dependency theories.

(b)

(c)

(a)

(b)

(©

(d)

2046

/a7 P GR @, &, Fiews MeTeTe! ©rga FEHRERs S S|

Critically discuss the roles and functions of UNCTAD for economic
development.

SATSF G UNCTAD -3 Bfie! 8 SIReNs Ficeoiet<s Seiol S|
Discuss the role of state in the planning of a mixed economy.

Tl SefifS Afirsma AT G A I |

Answer any fwo questions from the following:
fasieie @-ceieat 715 efvs Sea whes

Critically evaluate the role of Foreign Direct Investment (FDI) in fostering
economic development in Less Developed Countries (LDCs).

TEme (el oitafes Tmid e W RSl (FDI) gfeeR
TGS N I |

Examine the nature of the debt crisis in the Third World with a special note on the
role of IMF in this context.

DO Reed criefER e FRIT &S WET TN @R &AF WwHi T Ll
il iR s

Explain clearly the notions of import substitution and export promotion as
alternative means of industrialisation in LDCs. Import substitution policy is
economically inefficient and costly to administer — Explain.

Fraie (o R [Rew st i 369 G2 SmiRt &fzie Qe 1 S
Giwif 2fegem e SidfFeg v 71 g3z a1 T3 T 726 — I IE

Critically analyse the provisions of WTO from the view point of development of
agricultural sector in less developed countries.

S (e FRUFER Taaer v @ [y aftey W (WT0) disfm
FAEABITeTe Rrae et

8x1 =28

15x2=30
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